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7 100kN/mM%#BZ % — - ~ — —|3m%TiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 -~ 6.64 83.84 | =S | 000 ~ 664 1.73 924 st 1.00 | 6.00 ~ 8.00 83.84 | =h4 | 5,00 ~ 800| 1.73 924
2 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.48 68.36 | FnLSY | 0.00 ~ 548 | 1.89 10.11 st 1.00 | 6.00 ~ 6.30 68.36 | TSt | 5.00 ~ 6.30)| 1.89 10.11
3 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.32 79.50 | FnLSY |0o0 ~ 632|177 947 st 1.00 | 6.00 ~ 740 79.50 | ThSY | .00 ~ 740 1.77 947
4 100kN/mM%E#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ 6.10 76.56 | TnLS | 0oo ~ 610 1.92 10.29 st 1.00 | 6.00 ~ 7.50 76.56 | TS | 5,00 ~ 7.50)| 1.92 10.29
5 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.22 65.13 | FnLSY | 000 ~ 522\ 1.81 9.69 st 1.00 | 6.00 ~ 5.70 65.13 | TS | 6.00 ~ 6.70| 1.81 9.69
P 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 435 54.28 | #nS | 000 ~ 4.35| 1.97 10.56 st 1.00 | 6.00 ~ 5.00 54.28 | =nLS | 5.00 ~ 5.00| 1.97 10.56
- 100kN/m%x#8z5 | 1.00 | 000 ~ 1.22| 11839 |3mzx#8z3| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 10.70 ~ 1489 11839 |3mE#BZ% -~ — — —
s 1.00 | 1.22 ~ 9.00 100.00 | =nhst | 0oo ~ 9.00| 210 11.24 st 1.00 | 6.00 ~ 1070 100.00 | =nst | 6.00 ~ 1489| 2.10 11.24
P 100kN/m%E#8z5 | 1.00 | 000 ~ 145 12210 |3mx#8zZ3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.15 ~ 17.35| 12210 |3m%E#BZ% - ~ — — —
s 1.00 | 1.45 ~ 9.24 100.00 | =St | 0.00 ~ 9.24 | 2.21 11.80 st 1.00 | 6.00 ~ 1115 100.00 | =nst | 6.00 ~ 1735| 2.21 11.80
9 100kN/m%E#8z5 | 1.00 | 000 ~ 1.43| 121.70 |3mZz#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.05 ~ 1689 | 121.70 |3m%E#BZ% - ~ — — —
s 1.00 | 1.43 ~ 9.21 100.00 | #nlst | 0.00 ~ 9.21| 222 11.87 st 1.00 | 6.00 ~ 1105 100.00 | =nst | 6.00 ~ 1689| 2.22 11.87
10 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.64 57.89 | #nS | 000 ~ 4.64| 1.86 9.93 st 1.00 | 6.00 ~ 5.00 57.89 | =h4 | 5.00 ~ 5.00| 1.86 9.93
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




